6.1.1- Parallel Lines Investigation Name:
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AY a. What are some observations you can make about
T lines A and B?
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5 c. Write the equation of Line B in slope-intercept form:
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d. Compare and contrast the two equations you wrote above:
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y a. What are some observations you can make about
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44 b. Write the equation of Line A in slope-intercept form:
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d. Compare and contrast the two equations you wrote above:
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e. What can we conclude about the graphs of parallel lines?
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f. What can we conclude about the equations of parallel lines in relation to y = mx + b?
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a. What are some observations you can make
B about lines A and B?
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b. Write the equation of Line A in slope-intercept form:
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c. Write the equation of Line B in slope-intercept form:
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d. Compare and contrast the two equations you wrote above:
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4. Are the lines y=-3x+7 and y= 3x arallel? Explain your answer, using words.
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5. Arethelines ypy = Ex + 4 and y= 3;( + 9 parallel? Explain, using words.
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6. Write equatlons for 3 lines that are parallel toy =4x.
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7. Write equations for 3 lines that are NOT parallel toy =-5x - 6.
Y=SX+T7 5 U= -Ix+D 3 Uz X+
8. Are the linesy =3x+ 7 and 3x+y =10 parallel? Explain, using words.
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9. Are thelines y=4x+1 and 8§+ 2y = 1 parallel" Explain, usmgwords
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10. Are thelines y-6= 2(x 10) a = -2x + 14 parallel? Explain, using words
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11. Are thelines y-4=6(x+3) and -6x+y= 10\Fara11el7 Explain, using words.
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